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l.

SECTION—A

Write analytical notes on the following topics in about
150 words each :— 12x5=60

(a)
(b)
(c)
(d)

(e)

(a)

(b)

(c)

Networked and Virtual organisation.
Inmovation Management in organisations.
Entrepreneurship management.

Financial derivatives as tools of managing financial
risk.

Classical, Neo-classical and Contingency

approaches to organisational design.

What is the difference between HRM and
HRD ? What functions HRM covers and then
discuss the challenges in each identified
function. What are the critical issues in
implementing a 360 degree appraisal in a

government system ? (4+8+8=20)

How will you go about in terms of organising
auditing and accounting of human resources in
an organisation ? 20

What are the various strategic issues related
to training need identification, promotion and
transfer of employees in large public sector

organisations ? 20

2 (Contd.)
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A gl @1 # 360 foft Temwa &
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(a)

(b)

(©)

(@)

(b)

(c)

‘Creativity can be cultivated and 1s not
necessarily in-born.” Elucidate with illustra-

tions. 20

What is a ‘learning organisation’ ? How do you
create a ‘learning culture’ in an organisation ?

Explain with examples. 20

Design a suitable recruitment and compensation
policy for a manufacturing organisation in the
Public Sector. 20

Discuss the process of developing the Key
Tasks and Key Result Areas (KRA) for
managers and officers in a large organisation
and provide appropriate weightages on each
such KRAs for assessment giving reasons
thereof. 20

Why is corporate social responsibility (CSR)
increasingly becoming important for

businesses ? 10

Comment on approaches for resolution of

management—workforce conflicts. 10

4 (Contd.)
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ST | 20
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o Faf A FR R & @ aw ) M
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W @ E 7 10

(M) ydua-Frdad 57 ® gaa $ g Igml o
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5.

(d)

Write a short note on Knowledge management
for creating a knowledge enterprise. How can
appropriate job design impact employee
empowerment for better customer service 7 Why
change management is important for organisational
performance ? (6+8+6=20)

SECTION—B

Write analytical notes on the following topics in about
150 words each :— 12x5=60

()

(b)

(©)

(d)

(e)

Approaches of Walter and Lintner towards dividend
policy.

Marginal costing and absorption costing—their

practical implications.

Organisation-wide value chain analysis to discover
and harness “hidden value’ for increased

organisational performance.

Usefulness of operating leverage and indifference

point in designing capital structure.

Financial framework for lease evaluation from

the point of view of the lessee.

6 {Contd.)
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(a) What are the various approaches on deciding
product pricing ? Discuss the concept and method
of computing EVA in business. 20

(b)y Contrast the IRR and NPV methods. Under
what circumstances may they lead to (i) comparable
recommendations, and (ii) give conflicting
recommendations ? In the latter situation,
which method should be used to select project
and why ? Elucidate with appropriate examples.

20

(c) How will you go about raising capital for a large
infrastructure project and discuss the various
options that you would like to explore with relevant

decision criferia. 20

(a) How will you go about identifying the positioning
platform for a new brand of soap to be introduced
in the market ? 20

(b) What are the typical ethical issues and their
implications in social marketing ? 20
(¢} On what criteria would you like to conduct
competitive benchmarking ? llustrate with an
example. 20

3 (Contd.)
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8.

(a) How is the internet forcing busincsses to explore

alternative marketing channels ? 20

(b) What is strategic marketing and how are
marketing strategies developed from organisational

strategies ? 20

(c) Discuss Customer relationship management and

customer life time value management. 20

10 {Contd.)
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Note : English version of the Instructions is printed on the

front cover of this guestion paper.
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assumplions wherever required.
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contiquously. This means that before moving on to the
next question to be attempted, candidates must finish
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attempted. This is to be strictly followed.

Pages left blank in the answer-book are to be
clearly struck out in ink. Any answers that follow
pages left blank may not be given credit.
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SECTION A |

1. Answer the following questions (each not exceeding
150 words) :

(a) In an educational institution, the stipends earned
by the students in the first year summer
internships of the two year post graduate
programme are used to decide the amount of
financial aid to be given to the students in the
second year of the programme. The stipends
earned by the students have the following

distribution :
Stipend earned (in ) | Number of students
0 - 49,999 231
50,000 — 99,999 304
1,00,000 - 1,49,999 400
1,50,000 - 1,99,999 296
2,00,000 ~ 2,49,999 123
2,50,000 — 2,99,999 68
3,00,000 or more 23

What is the mode value of the stipend earned ? If
financial aid is restricted to those students whose
stipend earnings are at least 10% lower than the

mode value, how many of the applicants qualify ? 12

F-DTN-M-NBOB 2 [Contd.]
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1. 19 9y & IW (T0F 150 U ¥ 3 9 @)

G

(31) T Sl gen #, € oY F WHer SEwy

% wom of Ay ¥ fofs § S asim
(gfa) frafell 3 oS fomr o 97 fgdg o &
FdHq ¥ frenfidt & fodm gega ofdr & ®v
¥ faaig =@ § w3 § o e | faEnfeEy
I N aew (gf) e fer IEw famw

e T
A ‘(a:i’rg () ferenféat &1 g
0 - 49,999 931
50,000 — 99,999 304
1,00,000 — 1,49,999 400
1,50,000 — 1,99,999 296
2,00,000 — 2,49,999 123
9,50,000 — 2,99,999 68
3,00,000 31 354 Aftre 23

HE 7

F-DTN-M-NBOB 3
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(b

(c)

(d)

(e)

A job shop incurs different costs per day, for
processing 5 different jobs in the shop on a single
machine. All jobs are available at time t = 0. The
data for the jobs 1s given below :

Processing | Due date

Job time, days days

EoSNEVERNS R
W (DD (=1 o o
o)

-qc.om

5

Draw Gantt chart for SPT rule, slack time
sequence rule, to compute average tardiness and

lateness for each of the above rules.

What is the difference between “Micro”, “Small” and
“Medium” enterprises in the Manufacturing
Sector ? What are the main arguments in support of
SmallScale Enterprisesin India?

What do you understand by the term “Strategy” ?
How do you distinguish between “Business
Strategy” and “Corporate Strategy” 7 What role do
“External Assessment” and “Internal Scrutiny” play
in strategy formulation ?

Why are information systems so essential for
running and managing business today ? Explain
how Management Information System (MIS)
differs from Transaction Processing System (TPS)
and Decision Support System (1)SS).

12

12

i2

i2
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(@) T w4 gHEA W A fd avw s 2, S
THEA T TH el B W 5 s st 3 wiwman &
form et & 1| oot Rl TG ¢ = 0 W ITAH B | |

F4 % feu 3 eviere F fer o E
s g, | 29 fafy,
ik e e
1 5 13
2 3 15
3 7 22
4 2 9
5 4 7

sPT fram ik Wfaea T egd fram & fom
e ¢ egn e 3ugs e faad & fom
ST Foferer 3 Ferer & TR & W EE | 22
(m) frofoh &7 § g7, “sler’ aw “geAw’ IuEni
ﬁWW@W§7WﬁH§WSﬁW%
7§ F T as § 2 19
(8) “SRETEAr’ VREEed W oMY T §Wmd & 2
Y F =R @ F 7 Fgegar famior §
yffrer 7 gt & 2 12
(F) 3 FEHE & g U FEgd s F o
AT gonfert @i aifd amevas § 2 Wy iy
fF s qEA YOS (MIS) #H TR ¥R
Tl (TPS) e fulg @A yoredt (pss) ¥
ﬁﬁﬁTT@?ﬁ%l 12
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UPD Manufacturing produces a range of healthcare

appliances for hospital and home use. Recently the
company has undertaken a review of its nventory
policies for blood pressure testing kit. The comnpany
manufactures all the components for the kit in-house
except for the digital display unit. Presently these
display units are ordered at six-week intervals from the
supplier. Discussions with purchasing manager
revealed a cost of ¥ 40 to order and receive a shipment
of display units from the supplier. The number of kits
assembled by the company per week is normally
distributed and has an average of 80 units with a
standard deviation of 5 units. The weekly inventory
carrying cost is T (-08 for each display unit. The
supplier takes exactly 1 week to deliver an order from
the date the order is faxed to the supplier. Assume
one week has 5 working days.

Answer the following questions (each not exceeding
200 words) :

(a) Assuming 52 working weeks in a year, what will be
the sum total of ordering and inventory carrying
costs for the digital display unit, with the present
ordering policy ?

(b) What will be the stock level at which an order
should be placed, with the present ordering policy ?

(¢) If the company wanted to minimize the sum total
of annual ordering and inventory carrying costs,
what should the company’s order quantity be for

the display unit 7

12

15

F-DTN-M-NBOB 6 [Contd.]
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2. UPD Fith # s UH W & 39 & fom

%
fa|
W
=
e

TF TR @& 999 od g | Fg WM e R UE

war ¥ 5 srivie feag 2§ |
ifrd TYE ¥ 3T (SRS 200 W) ¥ wfuw T @)

ey -

(37) TE T § 52 FEAYE TR A g I g9
el 398 & fAU adue ey Aifd & iy e
T -] Fe A & F A fE a2 8

(@) aEAE T AfA F g AT F R FW AW
fog W fo s ey fear s =few ? 12

(@) 3R F T SRY UF WI-gE 957 A &
Fol AT F G FEA AR, A GwA ATl 9 &
AU FAG & SR & WA F B AT ? 15
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(d) How much safely stock should the company
provide if the company wanted to cnsure that it
will not run out of stock more than 1% of inventory

cycles ? 12

te) In the pgencral context of vendors,.distinguish
between MRD? and JIT, with illustrations. 13

3. A car maker XY Motors sold 12,000 vehicles in the
initial year 1994. By 2010, thc company had sold
5,00,000 annually. Until 2002, XY ranked at the bottom
ol annual quality survey ol new vehicle owners, with
2-12 dcefects per vehicle, and industry average of 1-33.
XY offered a 10 year/1,00,000 Mile Warranty Program
and paid for repairs en all warrantied items. XY had to
crecate a system to report any defects, accidents, or
injuries involving its vehicles to the Federal
Government. The inlormation was stored in at least
seven different systems run by XY’s warranty, parts,
consumer and legal affairs departments. XY's
management decided to create a delect early warning
system to identily potential problems, such as [aulty
brake parts, by combining warranty claims, parts sales
and orders, field reports and consumer complaints. A
softwarc consulting firm [Z created a software “engine”
that examines six XY systems [lor warranty claims,
parts orders and sales, vehicle identification number,
master storage files, vehicle inventories and stores the
essential information in a single common data

repositery. The system autc.natically breaks down and
F-DTN-M-NBOB 8 [Contd.}

www.examrace.com



(2) afE ot 7z ghfvea & 9 % Ae-gE g
F 19 9 SUE IZ FH Gl 7 SO A HEAT H
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(@) TashaT & 9= <o ¥, MRP @41 JIT § HIEB80T
I WY FfFw | 13

ﬁ
;
:
%
%

TOEA GI3E, 984 WE-gE & fou S X @ 9
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catogorizes reports hased on individual components,
such as steering assemblics or headlights, and
links to XY= “Clarify” customer relationship
management svstem, tracking customer complaints
received by phone, e-mail or postal mail. Managers
are able to analyze the data by daily, weekly, or
monthly reporting perieds and by specific car
models, model year, and componenmis. They can
breakdown data in detail to see how many
complaints or warranty claims arc associated with
a specific item, such as a steering assembly. In
the gquality rankings released recently, XY had
1-40 problems per vehicle, finishing second in the
‘compact’ car category for quality.

Answer the following questions (each not excceding
200 words) :

(a) What is the problem with the original information

system for tracking the quality of parts ? 12
{(b) How did the company improve the quality of its
vehicles with the improved information system ? 15
{¢) In general, what do you understand by information
architecture ? What are the well known types of
information architecture ? 13
(d) How do supply chain management (SCM) systems
and customer relationship management (CRM)
systems help integrate suppliers and customers
better ? 20
F-DTN-M-NBQB 10 [Contd.]}
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e A H W@d ¢ | §8 YUl T qdih® g
W e gfeded ® afigw ww 8, 99 fR
W I 41 gS-aEe W S XY & “Clarify”
ATE ITARR WA T YOTer § Sedt 2, ol
B, 3-0F A EF T F G AT YRR IRt
W g @ S Gl B | Wews I Arg g € %
g of, wafes I wigs s@fa 3 wfgeed &
FHiFe & faveilid U 9% a9 9% 99 & FW P
fafsre #fgw, wded-od ot 39 weal & Sf
fazeivn ¢ ok | 9 famr # el & faveifid &=
2 THd & 6 fra Ramd 1 svas @ 8 S
fo oot fayw 7g @ dsfog € 99 @ wEm
A Hfs | 3l g @ F uEe-ueEl A, Xy A
140 a9 aea fgerd Fw 3w frfg
FEF FR H PE 400 F R I8 W @
fr 9ol & TR (W% 200 T=T 9 3 A A
gfew
(31) TRfE gEW e ® g & e W e
WA & fau = g9ar g ? 12
(F) FA A I G JUTCA G A F O[O
Y TG TR ? 15
(9) T, Fot G § 39 F GES §
T TS & TH-FH TEL 2§ 2 13
(%) MY HEe T (SCM) FUMferdl aar ST
H49 Ya (CRM) wonferal & ofdeatedi wd
IR & 49 Sed ¥ 9eg .t @ 7 20
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4. STU Companv was a high variety manufacturer of high
tensile (HT7 fasteners which inchaded over 3000
different types of bolts, nuts, screws, sockets, dry wall
serews, specialg, ete. The manufacturing plants were
located in South India. Although, there were several
other competitors, STU was by [ar the market leader
in HT fasteners with a market share of cver 60%.
These markets mainly included automobile original
cquipment manufacturers (OEMs) and retail hardware
markets. Some product was cxported to a variety of
countrics. The company’s dominant position in HT
[asteners was buill on strong core competence it had
built in two areas : cold forging and in-house tool
making, However, the company depended heavily for
over 90% of its total steel requirements on costly
import. The company later began making cold extruded
components and powder metallurgy components. The
company’s competences in these areas were not unique
and other competitors claimed better capabilities.
Although not a market leader, the company’s market
shares in each of these product groups was 25%
approximately. While the growth rate of HT fasteners
was rather low, the rate of market growth for cold
extruded and powder metallurgy components was
reasonably high. The total market size for the three
product groups was as follows : HT fasteners — ¥ 2,000
crores, cold extruded parts — ¥ 600 crores and powder
metallurgy parts — ¥ 400 crores. The company’s break
even point was rather high, at 80% of total sales, due
to high eost of imported raw materials. On an average,

F-DTN-M-NBOB 12 {Contd.]
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4. STU F9 3= 9919 (HT) Sew = U Jod o] &l
s Al @O fegd go00 € F TRT A e
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FEA 7 vie afgdfag q@t $R 9of wgewd g &
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TR H T 25 WA9d TE 91 ) SR HT Ses @
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uqEd QS § AR 3fg o T0E ®9 ¥ I @ |
dH 3R WE F [T A TER # HEX 3H TR
qu
HT SIe&F — 7 2,000 FUg, ¥id afgdfd 3of - 600
Fg 3 gui urged gf - 7 400 FE |

FOE H aHfaedg foag TEfdd w WA # S
AF % FRUI $ K SO A — FA fAwA &
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the variable cost was 60% of the product price. As

part of its growth plan, the company looked at

three options

(i) Set up a captive steel mill for making the special
steels needed.

{ii) Set up a new high tensile fastener plant in the
North to meet the needs of the customers in the
North.

(1i1) Vigorously pursuc the possibility of becoming a
supply source for reputed OEMs abroad,
particularly in USA.

While the captive steel mill was an attractive option,
the company had no strength in steel making. Being
capital intensive, to be cconomical, such a mill would
need much higher volume, almost 5 times the internal
requirement for economy of scale. Setting up a new
plant in the North was a mildly attractive option but
the customers in the North could alse be well serviced
by opening a dedicated warehouse in the North. Also
the company had no prior experience of operating a
manufacturing plant in the North. Being a supply
source for OEMs in UUSA was a very attractive option
with very high growth potential, but the company
would have to meet stringent volume, quality, rapidly

changing design and delivery requirements of OEMs.
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Answer the following questions (each not exceeding
200 words) :

(a) By what strategy was STU able to build a
dominant position in the HT fastener market ?
Why could it not replicate this in cold extruded and

powder metallurgy components ?

() Draw the Boston Consulting Group (BCG) product
portfolio matrix and show on it the position of the
company’s three product groups : HT fasteners,
Cold extruded parts and Powder metallurgy parts.

(¢) What is the company’s break even sales ? What is

the company’s fixed cost ?

(d) Use a suitable strategy analysis technigquc to
evaluate the three growth options. Which option
should the company choose ? What will the
company have to do to successfully implement the

option ?

15

15

15
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SECTION B

5, Answer the following questions (each not exceeding
150 words) :

{a)

(b)

MNP Manufacturing produces ornate, decorative
wood frame doors and windows. Each item
produced goes through three manufacturing
processes : culting, sanding and finishing. Each
door produced requires 1 hour in cutting,

30 minutes in sanding and 30 minutes in finishing.
Each window requires 30 minutes in cuiting,
45 minutes in sanding and 1 hour in finishing. In
the coming week, MNP has 40 hours of cutting
capacity, 40 hours of sanding capacity and 60 hours
of finishing capacity available. Assume that all
doors produced can be sold for a profit of T 500
cach and all windows can be sold for a profit of
7400 each. Formulate a linear programming model
o solve the problem. Use the graphical method to
find the optimal solution,

What is meant by “Statisticai Process Control” ?
What are range and mean charts ? The range and
mean charts were used to delermine the mean and
standard deviation of a process making a cylindrical
component. The mean value of the outer diameter
was found to be 7-724994 centimetres and the
standard deviation of the outer diameler was
0-:000433 centimetres. The specification for the
guter diameter was 7-72500 + 0-00050 centimetres,
Does the process have desired capability to produce
the component as per the specifieations ?

12

12
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{¢) What 15 a “Strategic Alliance” ? What are the
different types of strategic alliances ? What are
their advantages and disadvantages ? Distinguish

between strategic alliance and joint venture, 12

(d) What are the major capabilities of Data Base
Management System (DBMS) ? Why is a relational
DBMS so powerful ? What are the principal
technologies for accessing information from
databases to improve business performance and

decigion making ? 2

{e) What is “Foreign Direct Investment” ? What is
“Foreign Portfolio Investment” ? How do these
differ ? Explain the product life cycle theory of

“Foreign Direct Investment”. 12

6. The Beta Container Company is a large manufacturer
in the container industry. The Company’s production
factory enjoyed good employee relations, due to absence
of frequent ‘hiring-firing’ practice. If necessary, the
factory employed temporary workers and college
graduates to fill extra manpower needs during the peak
summer and monscon months. The factory had 14 can
lines, with 12 workers and 1 supervisor per line. The
average shift hourly rate for workers and supervisors
was ¥ 61 and T 94 respectively. A 50% overtime
premium was paid for all overtime work not exceeding
20 hours per worker per week (maximum 4 hours per

F-DTN-M-NBOB 20 [Contd.]
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day). The supervisor also received overtime on the
same basis, The factory produced, stocked and
transported cans in  truckloads. Bach truckload
occupied 3200 cubic feet of space. A monthly
charge of 2% of the average monthly inventory
value was applied to cover inventory carrying
costs. The factory’s average production capacity was
30 truckloads of cans/month/ean line on regular
time. The factory could use upto a maximum of
14 can lines in any month, if nceded. The
manufacturing cost was € 50,000/truckload. Table
below shows the anticipated sales forecast. Assume
each can line works for 160 hours per month on regular

time,
Table : Anticipated Sales Forecast

Month Demand in truckloads
January 30
February 54
March 145
*April 186
May 217
June 262
July 317
August 346
September 299
October 251
November 101
December 119

- F-DTN-M-NBGB 22 [Contd.]

www.examrace.com




F 47 | FHE THE-IR 3200 9 WIE F M AT
a1 | aitgd WiEH ATE-HH qed 1 2% FOTH AIHE
ek WE-YE ggd @rd & faw e S oo o
taedt @ e IARA aWal e §W W oW
| 9 wfg 7 W &9 @T & 30 TH-UR & A | e
F sTEvEaEdl F, Gaed fusad 14 A ABA W
I T TFA 4l | T 50,000 ¥F TH-9T ) i
Wﬁﬁ|ﬁmﬁmwﬁﬂﬁmmw
i # 1 Oe e e fafng w1 | oS
AEA 160 HUS WA o & fAu F & 4 |

diferant : MG fagra gafqam=

el 291 F AN
S 30
RTCE 54
e 145
I 186
Ed 217
Gl 262
NSIE 317
Kt piess 346
fodm=r 299
3R 251
T 101
fagran 119

F-DTN-M-NBOB 23 [Contd.]

www.examrace.com




Answer the following questions (each not cxceeding
200 words) :

(a) How should the factory plan its preduction ?

(b) What will be the annual production plan that will
result in least total annual cost using seven can

lines 1n each month ?

{c¢) How will the production plan be affected if the
factory had an inilial inventory of 100 truckloads
at the beginning of January ?

(dy How will the production plan be affected if the
factory wanted an inventory of 150 truckloads at
the end of December, but had no inventory at the

start of January ?

IJK Clothing Ltd. signed up with a well known shirt
company in USA for licensed manufacturc of “Ar”
brand shirts in India. The first plant with a capacity te
produce up to 4000 shirts per day was set up in
Bangalore at a cost of ¥ 16 crore, with state of art
facilities, working conditions and over two dozen
quality check points in the plant for high quality and
precision work. The plant was among the few in the
world which could make shirts with 2 ply 140s and
3 ply 100s cotton fabrics using 16 — 18 stitches per
inch. The plant’s reputation spread far and wide and

export orders started pouring in from renowned global

www.examrace.com
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brands. The company had to take over four more
factories in Bangalore on wet lease to cope with
demand. The company sct up another large cxport
oriented factory in the vicinity of Bangalore with
capacity to make up to 9000 shirts per day at a
cost of T 15 crore. Several cutting edge technologies
were used in the plant including CNC fabric cutting
machines, automatic collar and cuff stitching
machines, foam finishers, pncumatic holding for
shoulder joining, ctc. Computerized apparel production
management system enabled continuous monitoring of
production processes. The plant employed 800 persons,
almost one-third needed in its original plant. The
lifting of countrywide quota regime helped the
company boost its global sales, “Ar” brand shirts were
displayed in exclusive showrooms, across the largest
network of exclusive outlets and alsc in 30 retail
chains in India. Later it branched into 200 select
multibrand outlets. The company expanded its product
range from formal dress shirts to casual shirts, T-shirts
and trousers. It tied up with a renowned Italian
designer to design its spring and summer collection.
The company announced its intention to license the
“Ar” brand io lifestyle accessories like footwear,

watches, undergarments, fragrances, lcather goods.
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Answer the following questions (each not exceeding
200 words) :

(a)

{b)

By what strategy did IJK Clothing Ltd. globalize
its “Ar” shirt business ? What explains the

phenomenal growth of “Ar” shirt business ?

Is the strategy too India centric ? What efforts are
needed to transform it into a truly global

strategy ?

Will the strategy work when competition

intensifies in branded shirt business ?

In general, what arc the generic strategies by
which companies can globalize ? What are their

advantages and disadvantages ?

Answer the following questions (each not exceeding
300 words) :

(a)

(b)

What have been the key contributions made by the
Public Sector Enterprises (PSEs) to the overall
growth of India’s economy ? What are the main

causes for their unsatisfactory performance ?

What are the advantages and disadvantages of
implementing Corporate Social Responsibility
(CSR) for an organization ? What are the well
known models of CSR ? Mention a few industrial
organizations in India known for performing CSR

functions.
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(¢} The Black Gold Gilficld Company has recently
acquired rights to a new potential source of
natural oil in Bay of Bengal. The current market
value of these rights is T 900 crore. However if
there is natural oil at the site, it is estimated to be
worth ¥ 8000 crore. In this case, the company
would have to pay ¥ 1000 crore in drilling costs to
extract oil. The company believes there is a 0-25
probability that the proposed drilling site actually
will hit the natural oil reserve. Alternately, the
company can pay ¥ 300 crore to first carry out a
seismic survey at the propesed driling site.
Historically if the seismic survey produces a
favourable result, there 1s a 0-5 probability of
hitting oil at the drilling site. However, if the
seismic survey produces an unfavourable result,
there is only a 0-14 probability of hitting oil. The
probability of an unfavourable survey when no oil
is present is 0-8. The probability of a favourable
seismiec survey when oil is present at the driiling
site 15 0-6. What is the optimal decision strategy,
using the Expected Monetary Value (EMV)

criterion ? 30
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Note :  English version of the Instructions is printed on
the front cover of this question paper.

www.examrace.com



